
ANSWERS – VOLUME2: STRESSES, STRAINS, DISPLACEMENTS 
Chapter 4, Members Subject to Bending and Extension problem 4.074, page 257 
 
Remarks:  See §4.4, pages 168 till 170 
 
Answer:  
 
Stress diagram b  
 
Explanation: 
 
Because there is only bending, the normal stress is zero at the location 
of the normal centre. The NC must therefore lie on the neutral axis. 
 
The distance from the NC to the bottom of the cross-section: 
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This means that the neutral axis must be located 30mm above the 
bottom of the cross-section. Only stress diagram b can be correct in 
this case. 
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